

## SOME IDENTITIES OF THE TYPE 2 DEGENERATE BERNOULLI AND EULER NUMBERS

SE-KYO CHUNG<sup>1</sup>, GWAN-WOO JANG<sup>2</sup>, DAE SAN KIM<sup>3</sup>, AND JONGKYUM KWON<sup>4</sup>

**ABSTRACT.** Recently, several authors have studied the type 2 degenerate Bernoulli and Euler numbers and polynomials. In this paper, we deduce infinite families of differential equations satisfied by generating functions of the type 2 degenerate Bernoulli and Euler numbers and derive some identities from those differential equations.

### 1. Introduction

In [7], it was shown that odd integer power sums can be expressed in terms of some values of the type 2 Bernoulli polynomials and that alternating odd integer power sums in terms of certain values of the type 2 Euler polynomials. Further, two random variables were created from random variables having Laplace distributions and it was shown that their moments are closely connected with the type 2 Bernoulli and Euler numbers.

Quite recently, as degenerate versions of the type 2 Bernoulli and Euler numbers and polynomials, the type 2 degenerate Bernoulli and Euler numbers and polynomials were introduced in [5] and some of their properties and identities were investigated.

In this paper, first we deduce two infinite families of differential equations satisfied by the generating function of the type 2 degenerate Bernoulli numbers. To be precise, it is that generating function divided by  $t$ . Then, from those differential equations we derive some identities involving the type 2 degenerate Bernoulli numbers and those of higher-orders.

Next, we deduce two infinite families of differential equations satisfied by the generating function of the type 2 degenerate Euler numbers. Then, by virtue of those differential equations we derive some identities involving the type 2 degenerate Euler numbers and those of higher-orders.

---

2010 *Mathematics Subject Classification.* 05A19, 11B83, 34A34.

*Key words and phrases.* type 2 degenerate Bernoulli numbers, type 2 degenerate Euler numbers, differential equations.

<sup>4</sup> corresponding author.

For the rest of this section, we will recall some of the necessary definitions that will be needed in the sequel.

The Bernoulli polynomials are defined by the generating function:

$$\frac{t}{e^t - 1} e^{xt} = \sum_{n=0}^{\infty} B_n(x) \frac{t^n}{n!}, \quad (\text{see [2, 3, 4, 6, 15]}). \quad (1.1)$$

When  $x = 0$ ,  $B_n = B_n(0)$  are called the Bernoulli numbers.

As is well known, the type 2 Bernoulli polynomials are defined by the generating function:

$$\frac{t}{e^{\frac{t}{2}} - e^{-\frac{t}{2}}} e^{xt} = \sum_{n=0}^{\infty} b_n(x) \frac{t^n}{n!}, \quad (\text{see [1, 7, 8, 10, 14]}). \quad (1.2)$$

When  $x = 0$ ,  $b_n = b_n(0)$  are called the type 2 Bernoulli numbers.

The type 2 degenerate Bernoulli polynomials are given by

$$\frac{t}{(1 + \lambda t)^{\frac{1}{2\lambda}} - (1 + \lambda t)^{-\frac{1}{2\lambda}}} (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} b_{n,\lambda}(x) \frac{t^n}{n!}, \quad (\text{see [5]}). \quad (1.3)$$

When  $x = 0$ ,  $b_{n,\lambda} = b_{n,\lambda}(0)$  are called the type 2 degenerate Bernoulli numbers. For  $r \in \mathbb{N}$ , the type 2 degenerate Bernoulli polynomials of order  $r$  are given by

$$\left( \frac{t}{(1 + \lambda t)^{\frac{1}{2\lambda}} - (1 + \lambda t)^{-\frac{1}{2\lambda}}} \right)^r (1 + \lambda t)^{\frac{x}{\lambda}} = \sum_{n=0}^{\infty} b_{n,\lambda}^{(r)}(x) \frac{t^n}{n!}. \quad (1.4)$$

When  $x = 0$ ,  $b_{n,\lambda}^{(r)} = b_{n,\lambda}^{(r)}(0)$  are called the type 2 degenerate Bernoulli numbers of order  $r$ .

From (1.4), we readily see that

$$b_{n,\lambda}^{(r)} = \sum_{l_1 + \dots + l_r = n} \binom{n}{l_1, \dots, l_r} b_{l_1,\lambda} \cdots b_{l_r,\lambda}. \quad (1.5)$$

As is well known that Euler polynomials are defined by the generating function

$$\frac{2}{e^t + 1} e^{xt} = \sum_{n=0}^{\infty} E_n(x) \frac{t^n}{n!}, \quad (\text{see [2, 3, 4, 6, 15]}). \quad (1.6)$$

When  $x = 0$ ,  $E_n = E_n(0)$  are called the Euler numbers.

The type 2 Euler numbers are defined by the following generating function:

$$\frac{2}{e^{\frac{t}{2}} + e^{-\frac{t}{2}}} = \sum_{n=0}^{\infty} e_n \frac{t^n}{n!}, \quad (\text{see [1, 5, 7, 8, 13, 14]}). \quad (1.7)$$

In [1], Jang-Kim introduced the type 2 degenerate Euler numbers, which are given by the following generating function:

$$\frac{2}{(1 + \lambda t)^{\frac{1}{2\lambda}} + (1 + \lambda t)^{-\frac{1}{2\lambda}}} = \sum_{n=0}^{\infty} e_{n,\lambda} \frac{t^n}{n!}. \tag{1.8}$$

When  $\lambda \rightarrow 0$ , the type 2 degenerate Euler numbers reduces to the type 2 Euler numbers.

$$\lim_{\lambda \rightarrow 0} e_{n,\lambda} = e_n.$$

For  $r \in \mathbb{N}$ , the type 2 degenerate Euler numbers of order  $r$  are defined by

$$\left( \frac{2}{(1 + \lambda t)^{\frac{1}{2\lambda}} + (1 + \lambda t)^{-\frac{1}{2\lambda}}} \right)^r = \sum_{n=0}^{\infty} e_{n,\lambda}^{(r)} \frac{t^n}{n!}, \text{ (see [5])}. \tag{1.9}$$

From (1.9), it is immediate to see that

$$e_{n,\lambda}^{(r)} = \sum_{l_1 + \dots + l_r = n} \binom{n}{l_1, \dots, l_r} e_{l_1,\lambda} \cdots e_{l_r,\lambda}. \tag{1.10}$$

## 2. Some identities of the type 2 degenerate Bernoulli numbers arising from differential equations

Let

$$F = F(t; \lambda) = \frac{1}{(1 + \lambda t)^{\frac{1}{2\lambda}} - (1 + \lambda t)^{-\frac{1}{2\lambda}}}. \tag{2.1}$$

Let us take the derivative with respect to  $t$  of (2.1). Then we have

$$\begin{aligned} F^{(1)} = \frac{\partial}{\partial t} F(t; \lambda) &= \frac{1}{((1 + \lambda t)^{\frac{1}{2\lambda}} - (1 + \lambda t)^{-\frac{1}{2\lambda}})^2} \left( -\frac{1}{2}(1 + \lambda t)^{\frac{1}{2\lambda} - 1} \right. \\ &\quad \left. - \frac{1}{2}(1 + \lambda t)^{-\frac{1}{2\lambda} - 1} \right) \\ &= -\frac{1}{2}(1 + \lambda t)^{-1} F - (1 + \lambda t)^{-\frac{1}{2\lambda} - 1} F^2. \end{aligned} \tag{2.2}$$

From (2.2), we get

$$-2F^{(1)} = (1 + \lambda t)^{-1} F + 2(1 + \lambda t)^{-\frac{1}{2\lambda} - 1} F^2. \tag{2.3}$$

From (2.3), we have

$$\begin{aligned} -2F^{(2)} &= -\lambda(1 + \lambda t)^{-2} F + (1 + \lambda t)^{-1} F^{(1)} - (1 + 2\lambda) \\ &\quad \times (1 + \lambda t)^{-\frac{1}{2\lambda} - 2} F^2 + 4(1 + \lambda t)^{-\frac{1}{2\lambda} - 1} F F^{(1)}. \end{aligned} \tag{2.4}$$

Multiplying  $-2$  on both sides of (2.4) and by (2.3), we get

$$\begin{aligned}
 (-2)^2 F^{(2)} &= 2\lambda(1+\lambda t)^{-2}F + (1+\lambda t)^{-2}F + 2(1+\lambda t)^{-\frac{1}{2\lambda}-2}F^2 \\
 &\quad + (2+4\lambda)(1+\lambda t)^{-\frac{1}{2\lambda}-2}F^2 + 4(1+\lambda t)^{-\frac{1}{2\lambda}-2}F^2 \\
 &\quad + 8(1+\lambda t)^{-\frac{2}{2\lambda}-2}F^3 \\
 &= (1+2\lambda)(1+\lambda t)^{-2}F + (8+4\lambda)(1+\lambda t)^{-\frac{1}{2\lambda}-2}F^2 \\
 &\quad + 8(1+\lambda t)^{-\frac{2}{2\lambda}-2}F^3.
 \end{aligned} \tag{2.5}$$

Continuing this process, we get

$$(-2)^N F^{(N)} = \sum_{k=0}^N a_{k,\lambda}(N)(1+\lambda t)^{-\frac{k}{2\lambda}-N} F^{k+1}. \tag{2.6}$$

Let us take the derivative with respect to  $t$  of (2.6). Then we get

$$\begin{aligned}
 (-2)^N F^{(N+1)} &= \sum_{k=0}^N \left(-\frac{k}{2} - N\lambda\right) a_{k,\lambda}(N)(1+\lambda t)^{-\frac{k}{2\lambda}-N-1} F^{k+1} \\
 &\quad + \sum_{k=0}^N (k+1) a_{k,\lambda}(N)(1+\lambda t)^{-\frac{k}{2\lambda}-N} F^k F^{(1)}.
 \end{aligned} \tag{2.7}$$

Multiplying  $-2$  on both sides of (2.7) and by (2.3), we have

$$\begin{aligned}
 (-2)^{N+1} F^{(N+1)} &= \sum_{k=0}^N (k+2N\lambda) a_{k,\lambda}(N)(1+\lambda t)^{-\frac{k}{2\lambda}-N-1} F^{k+1} \\
 &\quad + \sum_{k=0}^N (k+1) a_{k,\lambda}(N)(1+\lambda t)^{-\frac{k}{2\lambda}-N-1} F^{k+1} \\
 &\quad + \sum_{k=0}^N 2(k+1) a_{k,\lambda}(N)(1+\lambda t)^{-\frac{k+1}{2\lambda}-N-1} F^{k+2} \\
 &= \sum_{k=0}^N (2N\lambda+2k+1) a_{k,\lambda}(N)(1+\lambda t)^{-\frac{k}{2\lambda}-N-1} F^{k+1} \\
 &\quad + \sum_{k=1}^{N+1} 2k a_{k-1,\lambda}(N)(1+\lambda t)^{-\frac{k}{2\lambda}-N-1} F^{k+1}
 \end{aligned} \tag{2.8}$$

$$\begin{aligned}
 &= (2N\lambda + 1)a_{0,\lambda}(N)(1 + \lambda t)^{-N-1}F + 2(N + 1)a_{N,\lambda}(N) \\
 &\quad \times (1 + \lambda t)^{-\frac{N+1}{2\lambda} - N-1}F^{N+2} + \sum_{k=1}^N ((2N\lambda + 2k + 1) \\
 &\quad \times a_{k,\lambda}(N) + 2ka_{k-1,\lambda}(N))(1 + \lambda t)^{-\frac{k}{2\lambda} - N-1}F^{k+1}.
 \end{aligned}$$

Replacing  $N$  by  $N + 1$  in (2.6), we have

$$\begin{aligned}
 (-2)^{N+1}F^{(N+1)} &= \sum_{k=0}^{N+1} a_{k,\lambda}(N + 1)(1 + \lambda t)^{-\frac{k}{2\lambda} - N-1}F^{k+1} \\
 &= a_{0,\lambda}(N + 1)(1 + \lambda t)^{-N-1}F + a_{N+1,\lambda}(N + 1) \\
 &\quad \times (1 + \lambda t)^{-\frac{N+1}{2\lambda} - N-1}F^{N+2} + \sum_{k=1}^N a_{k,\lambda}(N + 1) \\
 &\quad \times (1 + \lambda t)^{-\frac{k}{2\lambda} - N-1}F^{k+1}.
 \end{aligned} \tag{2.9}$$

From (2.8) and (2.9), we get

$$a_{0,\lambda}(N + 1) = (2N\lambda + 1)a_{0,\lambda}(N), \tag{2.10}$$

$$a_{N+1,\lambda}(N + 1) = 2(N + 1)a_{N,\lambda}(N), \tag{2.11}$$

$$a_{k,\lambda}(N + 1) = (2N\lambda + 2k + 1)a_{k,\lambda}(N) + 2ka_{k-1,\lambda}(N), \tag{2.12}$$

where  $1 \leq k \leq N$ . From (2.3) and (2.6), we have

$$\begin{aligned}
 -2F^{(1)} &= \sum_{k=0}^1 a_{k,\lambda}(1)(1 + \lambda t)^{-\frac{k}{2\lambda} - 1}F^{k+1} \\
 &= a_{0,\lambda}(1)(1 + \lambda t)^{-1}F + a_{1,\lambda}(1)(1 + \lambda t)^{-\frac{1}{2\lambda} - 1}F^2 \\
 &= (1 + \lambda t)^{-1}F + 2(1 + \lambda t)^{-\frac{1}{2\lambda} - 1}F^2.
 \end{aligned} \tag{2.13}$$

Comparing the coefficients of (2.13), we have

$$a_{0,\lambda}(1) = 1, \quad a_{1,\lambda}(1) = 2. \tag{2.14}$$

Now, we observe that

$$\begin{aligned}
 a_{0,\lambda}(N + 1) &= 2(N\lambda + \frac{1}{2})a_{0,\lambda}(N) = 2^2(N\lambda + \frac{1}{2})_{2,\lambda}a_{0,\lambda}(N - 1) \\
 &= \dots = 2^N(N\lambda + \frac{1}{2})_{N,\lambda}a_{0,\lambda}(1) = 2^{N+1}(N\lambda + \frac{1}{2})_{N+1,\lambda},
 \end{aligned} \tag{2.15}$$

and

$$\begin{aligned}
 a_{N+1,\lambda}(N + 1) &= 2(N + 1)a_{N,\lambda}(N) = 2^2(N + 1)Na_{N-1,\lambda}(N - 1) \\
 &= \dots = 2^N(N + 1)_Na_{1,\lambda}(1) = 2^{N+1}(N + 1)!,
 \end{aligned} \tag{2.16}$$

where  $(x)_{0,\lambda} = 1$  and  $(x)_{n,\lambda} = x(x-\lambda)(x-2\lambda)\cdots(x-(n-1)\lambda)$ , for  $n \geq 1$ . Thus the proof for the next theorem is completed.

**Theorem 2.1.** *The following family of differential equations*

$$(-2)^N F^{(N)} = \sum_{k=0}^N a_{k,\lambda}(N) (1+\lambda t)^{-\frac{k}{2\lambda}-N} F^{k+1}, \quad (N = 0, 1, 2, \dots)$$

have a solution  $F = F(t; \lambda) = \frac{1}{(1+\lambda t)^{\frac{1}{2\lambda}} - (1+\lambda t)^{-\frac{1}{2\lambda}}}$ ,

where

$$\begin{aligned} a_{0,\lambda}(N) &= 2^N \left( (N-1)\lambda + \frac{1}{2} \right)_{N,\lambda}, \quad a_{N,\lambda}(N) = 2^N N!, \\ a_{k,\lambda}(N) &= (2(N-1)\lambda + 2k + 1) a_{k,\lambda}(N-1) + 2k a_{k-1,\lambda}(N-1), \\ & \quad (1 \leq k \leq N-1). \end{aligned}$$

**Remark 1.** From (2.12) and for  $1 \leq k \leq N-1$ , we get

$$\begin{aligned} a_{k,\lambda}(N) &= \sum_{i_1=0}^{N-k} \sum_{i_2=0}^{i_1} \cdots \sum_{i_k=0}^{i_{k-1}} 2^N \left( (N-1)\lambda + k + \frac{1}{2} \right)_{N-k-i_1,\lambda} \\ & \quad \times \left( (k-2+i_1)\lambda + (k-1) + \frac{1}{2} \right)_{i_1-i_2,\lambda} \times \cdots \times \left( (-1+i_k)\lambda + \frac{1}{2} \right)_{i_k,\lambda} k!, \end{aligned}$$

From (1.3) and (2.1), we have

$$\begin{aligned} F^{(N)} &= \frac{\partial^N}{\partial t^N} \left( \frac{t}{(1+\lambda t)^{\frac{1}{2\lambda}} - (1+\lambda t)^{-\frac{1}{2\lambda}}} \cdot \frac{1}{t} \right) \\ &= \frac{\partial^N}{\partial t^N} \left( \sum_{n=0}^{\infty} b_{n,\lambda} \frac{t^n}{n!} \cdot \frac{1}{t} \right) \\ &= \frac{\partial^N}{\partial t^N} \left( \sum_{n=1}^{\infty} b_{n,\lambda} \frac{t^{n-1}}{n!} + \frac{1}{t} \right) \\ &= \sum_{n=0}^{\infty} \frac{b_{n+N+1,\lambda}}{n+N+1} \frac{t^n}{n!} + (-1)^N N! \frac{1}{t^{N+1}}. \end{aligned} \tag{2.17}$$

Multiplying  $(-2)^N t^{N+1}$  on both sides of (2.17), we have

$$\begin{aligned}
 (-2)^N t^{N+1} F^{(N)} &= \sum_{n=0}^{\infty} (-2)^N \frac{b_{n+N+1,\lambda}}{n+N+1} \frac{t^{n+N+1}}{n!} + 2^N N! \\
 &= \sum_{n=N+1}^{\infty} (-2)^N \frac{b_{n,\lambda}}{n} \frac{t^n}{(n-N-1)!} + 2^N N! \\
 &= \sum_{n=N+1}^{\infty} (-2)^N b_{n,\lambda} \frac{(n-1)!}{(n-N-1)!} \frac{t^n}{n!} + 2^N N!.
 \end{aligned} \tag{2.18}$$

On the other hand, by (2.6) we have

$$\begin{aligned}
 (-2)^N t^{N+1} F^{(N)} &= \sum_{k=0}^N a_{k,\lambda}(N) (1+\lambda t)^{-\frac{k}{2\lambda}-N} F^{k+1} t^{N+1} \\
 &= \sum_{k=0}^N a_{k,\lambda}(N) (1+\lambda t)^{-\frac{k}{2\lambda}-N} \left( \frac{t}{(1+\lambda t)^{\frac{1}{2\lambda}} - (1+\lambda t)^{-\frac{1}{2\lambda}}} \right)^{k+1} t^{N-k} \\
 &= \sum_{k=0}^N a_{k,\lambda}(N) \left( \sum_{l=0}^{\infty} \left( -\frac{k}{2\lambda} - N \right)_l \lambda^l \frac{t^l}{l!} \right) \left( \sum_{j=0}^{\infty} b_{j,\lambda}^{(k+1)} \frac{t^j}{j!} \right) t^{N-k} \\
 &= \sum_{k=0}^N a_{k,\lambda}(N) \left( \sum_{l=0}^{\infty} \left\langle \frac{k}{2} + N\lambda \right\rangle_{l,\lambda} (-1)^l \frac{t^l}{l!} \right) \left( \sum_{j=0}^{\infty} b_{j,\lambda}^{(k+1)} \frac{t^j}{j!} \right) t^{N-k} \\
 &= \sum_{k=0}^N a_{k,\lambda}(N) \sum_{m=0}^{\infty} \left( \sum_{j=0}^m \binom{m}{j} b_{j,\lambda}^{(k+1)} (-1)^{m-j} \left\langle \frac{k}{2} + N\lambda \right\rangle_{m-j,\lambda} \right) \\
 &\quad \times \frac{t^{m+N-k}}{m!} \\
 &= \sum_{k=0}^N a_{N-k,\lambda}(N) \sum_{m=0}^{\infty} \left( \sum_{j=0}^m \binom{m}{j} b_{j,\lambda}^{(N-k+1)} \left\langle \frac{N-k}{2} + N\lambda \right\rangle_{m-j,\lambda} \right) \\
 &\quad \times (-1)^{m-j} \frac{t^{m+k}}{m!} \\
 &= \sum_{n=0}^{\infty} \left( \sum_{k=0}^{\min\{n,N\}} \sum_{j=0}^{n-k} \binom{n-k}{j} a_{N-k,\lambda}(N) b_{j,\lambda}^{(N-k+1)} (-1)^{n-k-j} \right) \\
 &\quad \times \left\langle \frac{N-k}{2} + N\lambda \right\rangle_{n-k-j,\lambda} \binom{n}{k} \frac{t^n}{n!},
 \end{aligned} \tag{2.19}$$

where  $\langle x \rangle_{0,\lambda} = 1$  and  $\langle x \rangle_{n,\lambda} = x(x+\lambda)(x+2\lambda) \cdots (x+(n-1)\lambda)$ , for  $n \geq 1$ . From (2.18) and (2.19), we get the following theorem

**Theorem 2.2.** *Let  $N, n \in \mathbb{N} \cup \{0\}$ , we have*

$$\begin{aligned} & \sum_{k=0}^{\min\{n, N\}} \sum_{j=0}^{n-k} \binom{n-k}{j} a_{N-k, \lambda}(N) b_{j, \lambda}^{(N-k+1)} (-1)^{n-k-j} \\ & \quad \times \left\langle \frac{N-k}{2} + N\lambda \right\rangle_{n-k-j, \lambda} (n)_k \\ & = \begin{cases} 2^N N!, & \text{if } n = 0, \\ 0, & \text{if } 1 \leq n \leq N, \\ (-2)^N b_{n, \lambda} \frac{(n-1)!}{(n-N-1)!}, & \text{if } n \geq N+1. \end{cases}, \end{aligned}$$

where  $a_{k, \lambda}(N)$ , ( $0 \leq k \leq n$ ), are as in Theorem 2.1.

Now, we observe the inversion formula of **Theorem 2.1**. Multiplying  $(1 + \lambda t)^{\frac{1}{2\lambda}+1}$  on both sides of (2.3), we have

$$(-2)F^2 = (1 + \lambda t)^{\frac{1}{2\lambda}} F + 2(1 + \lambda t)^{\frac{1}{2\lambda}+1} F^{(1)}. \quad (2.20)$$

Let us take the derivative with respect to  $t$  of (2.20). Then we get

$$\begin{aligned} (-2)2FF^{(1)} &= \frac{1}{2}(1 + \lambda t)^{\frac{1}{2\lambda}-1} F + (1 + \lambda t)^{\frac{1}{2\lambda}} F^{(1)} + (1 + 2\lambda) \\ & \quad \times (1 + \lambda t)^{\frac{1}{2\lambda}} F^{(1)} + 2(1 + \lambda t)^{\frac{1}{2\lambda}+1} F^{(2)}. \end{aligned} \quad (2.21)$$

Multiplying  $2(1 + \lambda t)^{\frac{1}{2\lambda}+1}$  on both sides of (2.21) and by (2.20), we get

$$\begin{aligned} (-2)^2 2F^3 &= 3(1 + \lambda t)^{\frac{2}{2\lambda}} F + (8 + 4\lambda)(1 + \lambda t)^{\frac{2}{2\lambda}+1} F^{(1)} \\ & \quad + 4(1 + \lambda t)^{\frac{2}{2\lambda}+2} F^{(2)}. \end{aligned} \quad (2.22)$$

Continuing this process, we get the following equations

$$(-2)^N N! F^{N+1} = \sum_{k=0}^N b_{k, \lambda}(N) (1 + \lambda t)^{\frac{N}{2\lambda}+k} F^{(k)}. \quad (2.23)$$

Taking the derivative with respect to  $t$  of (2.23), we have

$$\begin{aligned} (-2)^N (N+1)! F^N F^{(1)} &= \sum_{k=0}^N \left( \frac{N}{2} + k\lambda \right) b_{k, \lambda}(N) (1 + \lambda t)^{\frac{N}{2\lambda}+k-1} F^{(k)} \\ & \quad + \sum_{k=0}^N b_{k, \lambda}(N) (1 + \lambda t)^{\frac{N}{2\lambda}+k} F^{(k+1)}. \end{aligned} \quad (2.24)$$



Multiplying  $2(1 + \lambda t)^{\frac{1}{2\lambda} + 1}$  on both sides of (2.24) and by (2.20) and (2.23), we have

$$\begin{aligned}
(-2)^{N+1}(N+1)!F^{N+2} &= (-2)^N(N+1)!(1 + \lambda t)^{\frac{1}{2\lambda}}F^{N+1} \\
&+ \sum_{k=0}^N (N + 2k\lambda)b_{k,\lambda}(N)(1 + \lambda t)^{\frac{N+1}{2\lambda} + k}F^{(k)} \\
&+ \sum_{k=0}^N 2b_{k,\lambda}(N)(1 + \lambda t)^{\frac{N+1}{2\lambda} + k+1}F^{(k+1)} \\
&= \sum_{k=0}^N (2N + 2k\lambda + 1)b_{k,\lambda}(N)(1 + \lambda t)^{\frac{N+1}{2\lambda} + k}F^{(k)} \\
&+ \sum_{k=1}^{N+1} 2b_{k-1,\lambda}(N)(1 + \lambda t)^{\frac{N+1}{2\lambda} + k}F^{(k)} \\
&= (2N + 1)b_{0,\lambda}(N)(1 + \lambda t)^{\frac{N+1}{2\lambda}}F + 2b_{N,\lambda}(N) \\
&\quad \times (1 + \lambda t)^{\frac{N+1}{2\lambda} + N+1}F^{(N+1)} \\
&+ \sum_{k=1}^N ((2N + 2k\lambda + 1)b_{k,\lambda}(N) \\
&\quad + 2b_{k-1,\lambda}(N))(1 + \lambda t)^{\frac{N+1}{2\lambda} + k}F^{(k)}.
\end{aligned} \tag{2.25}$$

Replacing  $N$  by  $N + 1$  in (2.23), we have

$$\begin{aligned}
(-2)^{N+1}(N+1)!F^{N+2} &= \sum_{k=0}^{N+1} b_{k,\lambda}(N+1)(1 + \lambda t)^{\frac{N+1}{2\lambda} + k}F^{(k)} \\
&= b_{0,\lambda}(N+1)(1 + \lambda t)^{\frac{N+1}{2\lambda}}F \\
&\quad + b_{N+1,\lambda}(N+1)(1 + \lambda t)^{\frac{N+1}{2\lambda} + N+1}F^{(N+1)} \\
&\quad + \sum_{k=1}^N b_{k,\lambda}(N+1)(1 + \lambda t)^{\frac{N+1}{2\lambda} + k}F^{(k)}.
\end{aligned} \tag{2.26}$$

Comparing the coefficients of (2.25) and (2.26), we get

$$b_{0,\lambda}(N+1) = (2N + 1)b_{0,\lambda}(N), \tag{2.27}$$

$$b_{N+1,\lambda}(N+1) = 2b_{N,\lambda}(N), \tag{2.28}$$

$$b_{k,\lambda}(N+1) = (2N + 2k\lambda + 1)b_{k,\lambda}(N) + 2b_{k-1,\lambda}(N), \tag{2.29}$$

where  $1 \leq k \leq N$ . From (2.20) and (2.23), we have

$$\begin{aligned} (-2)F^2 &= \sum_{k=0}^1 b_{k,\lambda}(1)(1+\lambda t)^{\frac{1}{2\lambda}+k} F^{(k)} \\ &= b_{0,\lambda}(1)(1+\lambda t)^{\frac{1}{2\lambda}} F + b_{1,\lambda}(1)(1+\lambda t)^{\frac{1}{2\lambda}+1} F^{(1)} \\ &= (1+\lambda t)^{\frac{1}{2\lambda}} F + 2(1+\lambda t)^{\frac{1}{2\lambda}+1} F^{(1)}. \end{aligned} \quad (2.30)$$

From (2.30), we have

$$b_{0,\lambda}(1) = 1, \quad b_{1,\lambda}(1) = 2. \quad (2.31)$$

From (2.27), (2.28) and (2.31), we have

$$\begin{aligned} b_{0,\lambda}(N+1) &= 2\left(N + \frac{1}{2}\right) b_{0,\lambda}(N) = 2^2\left(N + \frac{1}{2}\right)_2 b_{0,\lambda}(N-1) = \cdots \\ &= 2^N\left(N + \frac{1}{2}\right)_N b_{0,\lambda}(1) = 2^{N+1}\left(N + \frac{1}{2}\right)_{N+1}, \end{aligned} \quad (2.32)$$

and

$$\begin{aligned} b_{N+1,\lambda}(N+1) &= 2b_{N,\lambda}(N) = 2^2b_{N-1,\lambda}(N-1) = \cdots = 2^N b_{1,\lambda}(1) \\ &= 2^{N+1}, \end{aligned} \quad (2.33)$$

where  $(x)_0 = 1$  and  $(x)_n = x(x-1)(x-2)\cdots(x-n+1)$  for  $n \geq 1$ . Thus, we can get the following theorem

**Theorem 2.3.** *The following family of differential equations*

$$(-2)^N N! F^{N+1} = \sum_{k=0}^N b_{k,\lambda}(N)(1+\lambda t)^{\frac{N}{2\lambda}+k} F^{(k)}, \quad (N = 0, 1, 2, \dots)$$

have a solution  $F = F(t; \lambda) = \frac{1}{(1+\lambda t)^{\frac{1}{2\lambda}} - (1+\lambda t)^{-\frac{1}{2\lambda}}}$ ,

where

$$\begin{aligned} b_{0,\lambda}(N) &= 2^N\left(N - \frac{1}{2}\right)_N, \quad b_{N,\lambda}(N) = 2^N, \\ b_{k,\lambda}(N) &= (2(N-1) + 2k\lambda + 1)b_{k,\lambda}(N-1) + 2b_{k-1,\lambda}(N-1), \\ &(1 \leq k \leq N-1). \end{aligned}$$

**Remark 2.** From (2.29) and for  $1 \leq k \leq N-1$ , we obtain the following expression.

$$\begin{aligned} b_{k,\lambda}(N) &= \sum_{i_1=0}^{N-k} \sum_{i_2=0}^{i_1} \cdots \sum_{i_k=0}^{i_{k-1}} 2^N \left(N - 1 + k\lambda + \frac{1}{2}\right)_{N-k-i_1} \\ &\times \left((k-2+i_1) + (k-1)\lambda + \frac{1}{2}\right)_{i_1-i_2} \times \cdots \times \left(i_{k-1} + \lambda + \frac{1}{2}\right)_{i_{k-1}-i_k} \left(-1 + i_k + \frac{1}{2}\right)_{i_k}. \end{aligned}$$

From (1.4) and (2.1), we have

$$\begin{aligned}
 (-2)^N N! t^{N+1} F^{N+1} &= (-2)^N N! \sum_{n=0}^{\infty} b_{n,\lambda}^{(N+1)} \frac{t^n}{n!} \\
 &= \sum_{n=0}^{\infty} (-2)^N N! b_{n,\lambda}^{(N+1)} \frac{t^n}{n!}.
 \end{aligned}
 \tag{2.34}$$

Also, by (2.23) and (2.17) we have

$$\begin{aligned}
 (-2)^N N! t^{N+1} F^{N+1} &= \sum_{k=0}^N b_{k,\lambda}(N) (1 + \lambda t)^{\frac{N}{2\lambda} + k} F^{(k)} t^{N+1} \\
 &= \sum_{k=0}^N b_{k,\lambda}(N) (1 + \lambda t)^{\frac{N}{2\lambda} + k} \left( \sum_{l=0}^{\infty} \frac{b_{l+k+1,\lambda}}{l+k+1} \frac{t^l}{l!} + (-1)^k k! \frac{1}{t^{k+1}} \right) t^{N+1} \\
 &= \sum_{k=0}^N b_{k,\lambda}(N) \left( \sum_{m=0}^{\infty} \left( \frac{N}{2} + k\lambda \right)_{m,\lambda} \frac{t^m}{m!} \right) \left( \sum_{l=0}^{\infty} \frac{b_{l+k+1,\lambda}}{l+k+1} \frac{t^{l+N+1}}{l!} \right) \\
 &\quad + \sum_{k=0}^N b_{k,\lambda}(N) \left( \sum_{m=0}^{\infty} \left( \frac{N}{2} + k\lambda \right)_{m,\lambda} \frac{t^m}{m!} \right) (-1)^k k! t^{N-k}. \\
 &= \sum_{k=0}^N b_{k,\lambda}(N) \sum_{n=0}^{\infty} \sum_{l=0}^n \binom{n}{l} \left( \frac{N}{2} + k\lambda \right)_{n-l,\lambda} \frac{b_{l+k+1,\lambda}}{l+k+1} \frac{t^{n+N+1}}{n!} \\
 &\quad + \sum_{k=0}^N b_{N-k,\lambda}(N) \sum_{m=0}^{\infty} \left( \frac{N}{2} + (N-k)\lambda \right)_{m,\lambda} (-1)^{N-k} (N-k)! \frac{t^{m+k}}{m!} \\
 &= \sum_{n=N+1}^{\infty} \sum_{l=0}^{n-N-1} \sum_{k=0}^N b_{k,\lambda}(N) \binom{n-N-1}{l} \left( \frac{N}{2} + k\lambda \right)_{n-N-l-1,\lambda} \\
 &\quad \times \frac{b_{l+k+1,\lambda}}{l+k+1} \binom{n}{N+1} \frac{t^n}{n!} + \sum_{n=0}^{\infty} \sum_{k=0}^{\min\{n,N\}} b_{N-k,\lambda}(N) \\
 &\quad \times \left( \frac{N}{2} + (N-k)\lambda \right)_{n-k,\lambda} (-1)^{N-k} (N-k)! \binom{n}{k} \frac{t^n}{n!}.
 \end{aligned}
 \tag{2.35}$$

From (2.34) and (2.35), we get the following theorem

**Theorem 2.4.** For  $N \in \mathbb{N} \cup \{0\}$ , we have  
 If  $0 \leq n \leq N$ ,

$$\begin{aligned}
 (-2)^N N! b_{n,\lambda}^{(N+1)} &= \sum_{k=0}^n b_{N-k,\lambda}(N) \left( \frac{N}{2} + (N-k)\lambda \right)_{n-k,\lambda} (-1)^{N-k} \\
 &\quad \times (N-k)! \binom{n}{k},
 \end{aligned}$$

If  $n \geq N + 1$ ,

$$\begin{aligned} (-2)^N N! b_{n,\lambda}^{(N+1)} &= \sum_{l=0}^{n-N-1} \sum_{k=0}^N b_{k,\lambda}(N) \binom{n-N-1}{l} \frac{b_{l+k+1,\lambda}}{l+k+1} (n)_{N+1} \\ &\quad \times \left(\frac{N}{2} + k\lambda\right)_{n-N-l-1,\lambda} + \sum_{k=0}^N b_{N-k,\lambda}(N) \\ &\quad \times \left(\frac{N}{2} + (N-k)\lambda\right)_{n-k,\lambda} (-1)^{N-k} (N-k)! (n)_k. \end{aligned}$$

Here  $b_{k,\lambda}(N)$ ,  $(0 \leq k \leq N)$ , are as in Theorem 2.3.

### 3. Some identities of type 2 degenerate Euler numbers arising from differential equations

Let

$$F = F(t; \lambda) = \frac{2}{(1 + \lambda t)^{\frac{1}{2\lambda}} + (1 + \lambda t)^{-\frac{1}{2\lambda}}}. \quad (3.1)$$

Then, by taking the derivative with respect to  $t$  of (3.1), we get

$$\begin{aligned} F^{(1)} &= \frac{\partial}{\partial t} F(t; \lambda) = \frac{-2}{((1 + \lambda t)^{\frac{1}{2\lambda}} + (1 + \lambda t)^{-\frac{1}{2\lambda}})^2} \\ &\quad \times \left(\frac{1}{2}(1 + \lambda t)^{\frac{1}{2\lambda}-1} - \frac{1}{2}(1 + \lambda t)^{-\frac{1}{2\lambda}-1}\right) \\ &= -\frac{1}{2}(1 + \lambda t)^{-1} F + \frac{1}{2}(1 + \lambda t)^{-\frac{1}{2\lambda}-1} F^2. \end{aligned} \quad (3.2)$$

Multiplying 2 on both sides of (3.2), we have

$$2F^{(1)} = -(1 + \lambda t)^{-1} F + (1 + \lambda t)^{-\frac{1}{2\lambda}-1} F^2. \quad (3.3)$$

Let us take the derivative with respect to  $t$  of (3.3). Then we have

$$\begin{aligned} 2F^{(2)} &= \lambda(1 + \lambda t)^{-2} F - (1 + \lambda t)^{-1} F^{(1)} + \left(-\frac{1}{2} - \lambda\right)(1 + \lambda t)^{-\frac{1}{2\lambda}-2} F^2 \\ &\quad + 2(1 + \lambda t)^{-\frac{1}{2\lambda}-1} F F^{(1)}. \end{aligned} \quad (3.4)$$

Multiplying 2 on both sides of (3.4) and by (3.3), we get

$$\begin{aligned} 2^2 F^{(2)} &= 2\lambda(1 + \lambda t)^{-2} F + (1 + \lambda t)^{-2} F - (1 + \lambda t)^{-\frac{1}{2\lambda}-2} F^2 + (-1 - 2\lambda) \\ &\quad \times (1 + \lambda t)^{-\frac{1}{2\lambda}-2} F^2 - 2(1 + \lambda t)^{-\frac{1}{2\lambda}-2} F^2 + 2(1 + \lambda t)^{-\frac{2}{2\lambda}-2} F^3 \\ &= (1 + 2\lambda)(1 + \lambda t)^{-2} F + (-4 - 2\lambda)(1 + \lambda t)^{-\frac{1}{2\lambda}-2} F^2 \\ &\quad + 2(1 + \lambda t)^{-\frac{2}{2\lambda}-2} F^3. \end{aligned} \quad (3.5)$$

By proceeding inductively, we get

$$2^N F^{(N)} = \sum_{k=0}^N c_{k,\lambda}(N)(1 + \lambda t)^{-\frac{k}{2\lambda} - N} F^{k+1}. \quad (3.6)$$

Let us take the derivative with respect to  $t$  of (3.6). Then we get

$$\begin{aligned} 2^N F^{(N+1)} &= \sum_{k=0}^N \left(-\frac{k}{2} - N\lambda\right) c_{k,\lambda}(N)(1 + \lambda t)^{-\frac{k}{2\lambda} - N - 1} F^{k+1} \\ &\quad + \sum_{k=0}^N (k+1) c_{k,\lambda}(N)(1 + \lambda t)^{-\frac{k}{2\lambda} - N} F^k F^{(1)}. \end{aligned} \quad (3.7)$$

Multiplying 2 on both sides of (3.7) and by (3.3), we get

$$\begin{aligned} 2^{N+1} F^{(N+1)} &= \sum_{k=0}^N (-k - 2N\lambda) c_{k,\lambda}(N)(1 + \lambda t)^{-\frac{k}{2\lambda} - N - 1} F^{k+1} \\ &\quad + \sum_{k=0}^N (-k - 1) c_{k,\lambda}(N)(1 + \lambda t)^{-\frac{k}{2\lambda} - N - 1} F^{k+1} \\ &\quad + \sum_{k=0}^N (k+1) c_{k,\lambda}(N)(1 + \lambda t)^{-\frac{k+1}{2\lambda} - N - 1} F^{k+2} \\ &= \sum_{k=0}^N (-2N\lambda - 2k - 1) c_{k,\lambda}(N)(1 + \lambda t)^{-\frac{k}{2\lambda} - N - 1} F^{k+1} \\ &\quad + \sum_{k=1}^{N+1} k c_{k-1,\lambda}(N)(1 + \lambda t)^{-\frac{k}{2\lambda} - N - 1} F^{k+1} \\ &= (-2N\lambda - 1) c_{0,\lambda}(N)(1 + \lambda t)^{-N - 1} F + (N+1) c_{N,\lambda}(N) \\ &\quad \times (1 + \lambda t)^{-\frac{N+1}{2\lambda} - N - 1} F^{N+2} + \sum_{k=1}^N ((-2N\lambda - 2k - 1) \\ &\quad \times c_{k,\lambda}(N) + k c_{k-1,\lambda}(N))(1 + \lambda t)^{-\frac{k}{2\lambda} - N - 1} F^{k+1}. \end{aligned} \quad (3.8)$$

Replacing  $N$  by  $N + 1$  in (3.6), we have

$$\begin{aligned} 2^{N+1}F^{(N+1)} &= \sum_{k=0}^{N+1} c_{k,\lambda}(N+1)(1+\lambda t)^{-\frac{k}{2\lambda}-N-1}F^{k+1} \\ &= c_{0,\lambda}(N+1)(1+\lambda t)^{-N-1}F \\ &\quad + c_{N+1,\lambda}(N+1)(1+\lambda t)^{-\frac{N+1}{2\lambda}-N-1}F^{N+2} \\ &\quad + \sum_{k=1}^N c_{k,\lambda}(N+1)(1+\lambda t)^{-\frac{k}{2\lambda}-N-1}F^{k+1}. \end{aligned} \quad (3.9)$$

Comparing the coefficients of (3.8) and (3.9), we get

$$c_{0,\lambda}(N+1) = (-2N\lambda - 1)c_{0,\lambda}(N), \quad (3.10)$$

$$c_{N+1,\lambda}(N+1) = (N+1)c_{N,\lambda}(N), \quad (3.11)$$

$$c_{k,\lambda}(N+1) = (-2N\lambda - 2k - 1)c_{k,\lambda}(N) + kc_{k-1,\lambda}(N), \quad (3.12)$$

where  $1 \leq k \leq N$ .

From (3.3) and (3.6), we get

$$\begin{aligned} 2F^{(1)} &= \sum_{k=0}^1 c_{k,\lambda}(1)(1+\lambda t)^{-\frac{k}{2\lambda}-1}F^{k+1} \\ &= c_{0,\lambda}(1)(1+\lambda t)^{-1}F + c_{1,\lambda}(1)(1+\lambda t)^{-\frac{1}{2\lambda}-1}F^2 \\ &= -(1+\lambda t)^{-1}F + (1+\lambda t)^{-\frac{1}{2\lambda}-1}F^2. \end{aligned} \quad (3.13)$$

From (3.13), we have

$$c_{0,\lambda}(1) = -1 \quad c_{1,\lambda}(1) = 1. \quad (3.14)$$

From (3.10), (3.11) and (3.14), we get

$$\begin{aligned} c_{0,\lambda}(N+1) &= (-2)(N\lambda + \frac{1}{2})c_{0,\lambda}(N) = (-2)^2(N\lambda + \frac{1}{2})_{2,\lambda}c_{0,\lambda}(N-1) \\ &= \dots = (-2)^N(N\lambda + \frac{1}{2})_{N,\lambda}c_{0,\lambda}(1) \\ &= (-2)^{N+1}(N\lambda + \frac{1}{2})_{N+1,\lambda}, \end{aligned} \quad (3.15)$$

and

$$\begin{aligned} c_{N+1,\lambda}(N+1) &= (N+1)c_{N,\lambda}(N) = (N+1)_2c_{N-1,\lambda}(N-1) = \dots \\ &= (N+1)_Nc_{1,\lambda}(1) = (N+1)!. \end{aligned} \quad (3.16)$$

**Theorem 3.1.** *The following family of differential equations*

$$2^N F^{(N)} = \sum_{k=0}^N c_{k,\lambda}(N)(1 + \lambda t)^{-\frac{k}{2\lambda} - N} F^{k+1}, \quad (N = 0, 1, 2, \dots)$$

have a solution  $F = F(t; \lambda) = \frac{2}{(1 + \lambda t)^{\frac{1}{2\lambda} + (1 + \lambda t)^{-\frac{1}{2\lambda}}}$ ,

where

$$\begin{aligned} c_{0,\lambda}(N) &= (-2)^N \left( (N - 1)\lambda + \frac{1}{2} \right)_{N,\lambda}, \quad c_{N,\lambda}(N) = N!, \\ c_{k,\lambda}(N + 1) &= (-2N\lambda - 2k - 1)c_{k,\lambda}(N) + kc_{k-1,\lambda}(N), \\ &(1 \leq k \leq N - 1). \end{aligned}$$

**Remark 3.** From (3.12) and for  $1 \leq k \leq N - 1$ , we have

$$\begin{aligned} c_{k,\lambda}(N) &= k! \sum_{i_1=0}^{N-k} \sum_{i_2=0}^{i_1} \cdots \sum_{i_k=0}^{i_{k-1}} (-2)^{N-k} \left( (N - 1)\lambda + k + \frac{1}{2} \right)_{N-k-i_1,\lambda} \\ &\quad \times \left( (k - 2 + i_1)\lambda + k - 1 + \frac{1}{2} \right)_{i_1-i_2,\lambda} \times \cdots \times \left( (-1 + i_k)\lambda + \frac{1}{2} \right)_{i_k,\lambda}. \end{aligned}$$

Recalling that  $F = F(t; \lambda)$  is the generating function of type 2 degenerate Euler numbers, the left hand side of (3.6) is equal to

$$\begin{aligned} 2^N F^{(N)} &= 2^N \frac{\partial^N}{\partial t^N} F(t; \lambda) \\ &= 2^N \frac{\partial^N}{\partial t^N} \left( \sum_{n=0}^{\infty} e_{n,\lambda} \frac{t^n}{n!} \right) \\ &= \sum_{n=0}^{\infty} 2^N e_{n+N,\lambda} \frac{t^n}{n!}. \end{aligned} \tag{3.17}$$

The right hand side of (3.6) is equal to

$$\begin{aligned} &\sum_{k=0}^N c_{k,\lambda}(N)(1 + \lambda t)^{-\frac{k}{2\lambda} - N} F^{k+1} \\ &= \sum_{k=0}^N c_{k,\lambda}(N) \left( \sum_{l=0}^{\infty} \left( -\frac{k}{2\lambda} - N \right)_l \lambda^l \frac{t^l}{l!} \right) \left( \sum_{m=0}^{\infty} e_{m,\lambda}^{(k+1)} \frac{t^m}{m!} \right) \\ &= \sum_{k=0}^N c_{k,\lambda}(N) \left( \sum_{l=0}^{\infty} \left\langle \frac{k}{2} + N\lambda \right\rangle_{l,\lambda} (-1)^l \frac{t^l}{l!} \right) \left( \sum_{m=0}^{\infty} e_{m,\lambda}^{(k+1)} \frac{t^m}{m!} \right) \\ &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \sum_{k=0}^N c_{k,\lambda}(N) \binom{n}{m} (-1)^{n-m} \left\langle \frac{k}{2} + N\lambda \right\rangle_{n-m,\lambda} e_{m,\lambda}^{(k+1)} \right) \frac{t^n}{n!}. \end{aligned} \tag{3.18}$$

From (3.17) and (3.18), we get the following theorem.

**Theorem 3.2.** *Let  $N \in \mathbb{N}$ , and let  $n \in \mathbb{N} \cup \{0\}$ . Then we have*

$$e_{n+N,\lambda} = 2^{-N} \sum_{m=0}^n \sum_{k=0}^N c_{k,\lambda}(N) \binom{n}{m} (-1)^{n-m} \left\langle \frac{k}{2} + N\lambda \right\rangle_{n-m,\lambda} e_{m,\lambda}^{(k+1)},$$

where  $c_{k,\lambda}(N)$ ,  $(0 \leq k \leq N)$ , are as in Theorem 3.1.

Now, we investigate the inversion formula of **Theorem 3.1**. Multiplying  $(1 + \lambda t)^{\frac{1}{2\lambda}+1}$  on both sides of (3.3), we get

$$2(1 + \lambda t)^{\frac{1}{2\lambda}+1} F^{(1)} = -(1 + \lambda t)^{\frac{1}{2\lambda}} F + F^2. \quad (3.19)$$

From (3.19), we have

$$F^2 = (1 + \lambda t)^{\frac{1}{2\lambda}} F + 2(1 + \lambda t)^{\frac{1}{2\lambda}+1} F^{(1)}. \quad (3.20)$$

Let us take the derivative with respect to  $t$  of (3.20). Then we get

$$2FF^{(1)} = \frac{1}{2}(1 + \lambda t)^{\frac{1}{2\lambda}-1} F + (1 + \lambda t)^{\frac{1}{2\lambda}} F^{(1)} + (1 + 2\lambda)(1 + \lambda t)^{\frac{1}{2\lambda}} F^{(1)} + 2(1 + \lambda t)^{\frac{1}{2\lambda}+1} F^{(2)}. \quad (3.21)$$

Multiplying  $2(1 + \lambda t)^{\frac{1}{2\lambda}+1}$  on both sides of (3.21), and by (3.19) and (3.20), we get

$$\begin{aligned} 2F^3 &= 2(1 + \lambda t)^{\frac{1}{2\lambda}} F^2 + (1 + \lambda t)^{\frac{2}{2\lambda}} F + 2(1 + \lambda t)^{\frac{2}{2\lambda}+1} F^{(1)} + (2 + 4\lambda) \\ &\quad \times (1 + \lambda t)^{\frac{2}{2\lambda}+1} F^{(1)} + 4(1 + \lambda t)^{\frac{2}{2\lambda}+2} F^{(2)} \\ &= 2(1 + \lambda t)^{\frac{2}{2\lambda}} F + 4(1 + \lambda t)^{\frac{2}{2\lambda}+1} F^{(1)} + (1 + \lambda t)^{\frac{2}{2\lambda}} F + (4 + 4\lambda) \\ &\quad \times (1 + \lambda t)^{\frac{2}{2\lambda}+1} F^{(1)} + 4(1 + \lambda t)^{\frac{2}{2\lambda}+2} F^{(2)} \\ &= 3(1 + \lambda t)^{\frac{2}{2\lambda}} F + (8 + 4\lambda)(1 + \lambda t)^{\frac{2}{2\lambda}+1} F^{(1)} + 4(1 + \lambda t)^{\frac{2}{2\lambda}+2} F^{(2)}. \end{aligned} \quad (3.22)$$

By proceeding inductively, we get

$$N!F^{N+1} = \sum_{k=0}^N d_{k,\lambda}(N)(1 + \lambda t)^{\frac{N}{2\lambda}+k} F^{(k)}. \quad (3.23)$$

From (3.23), we have

$$\begin{aligned} (N + 1)!F^N F^{(1)} &= \sum_{k=0}^N \left(\frac{N}{2} + k\lambda\right) d_{k,\lambda}(N)(1 + \lambda t)^{\frac{N}{2\lambda}+k-1} F^{(k)} \\ &\quad + \sum_{k=0}^N d_{k,\lambda}(N)(1 + \lambda t)^{\frac{N}{2\lambda}+k} F^{(k+1)}. \end{aligned} \quad (3.24)$$



Multiplying  $2(1 + \lambda t)^{\frac{1}{2\lambda} + 1}$  on both sides of (3.24), and by (3.19) and (3.23), we have

$$\begin{aligned}
 (N + 1)!F^{N+2} &= (N + 1)!(1 + \lambda t)^{\frac{1}{2\lambda}} F^{N+1} \\
 &+ \sum_{k=0}^N (N + 2k\lambda)d_{k,\lambda}(N)(1 + \lambda t)^{\frac{N+1}{2\lambda} + k} F^{(k)} \\
 &+ \sum_{k=0}^N 2d_{k,\lambda}(N)(1 + \lambda t)^{\frac{N+1}{2\lambda} + k+1} F^{(k+1)} \\
 &= \sum_{k=0}^N (2N + 2k\lambda + 1)d_{k,\lambda}(N)(1 + \lambda t)^{\frac{N+1}{2\lambda} + k} F^{(k)} \\
 &+ \sum_{k=1}^{N+1} 2d_{k-1,\lambda}(N)(1 + \lambda t)^{\frac{N+1}{2\lambda} + k} F^{(k)} \\
 &= (2N + 1)d_{0,\lambda}(N)(1 + \lambda t)^{\frac{N+1}{2\lambda}} F + 2d_{N,\lambda}(N) \\
 &\times (1 + \lambda t)^{\frac{N+1}{2\lambda} + N+1} F^{(N+1)} + \sum_{k=1}^N ((2N + 2k\lambda + 1) \\
 &\times d_{k,\lambda}(N) + 2d_{k-1,\lambda}(N))(1 + \lambda t)^{\frac{N+1}{2\lambda} + k} F^{(k)}.
 \end{aligned} \tag{3.25}$$

By replacing  $N$  by  $N + 1$  in (3.23), we get

$$\begin{aligned}
 (N + 1)!F^{N+2} &= \sum_{k=0}^{N+1} d_{k,\lambda}(N + 1)(1 + \lambda t)^{\frac{N+1}{2\lambda} + k} F^{(k)} \\
 &= d_{0,\lambda}(N + 1)(1 + \lambda t)^{\frac{N+1}{2\lambda}} F \\
 &+ d_{N+1,\lambda}(N + 1)(1 + \lambda t)^{\frac{N+1}{2\lambda} + N+1} F^{(N+1)} \\
 &+ \sum_{k=1}^N d_{k,\lambda}(N + 1)(1 + \lambda t)^{\frac{N+1}{2\lambda} + k} F^{(k)}.
 \end{aligned} \tag{3.26}$$

By (3.25) and (3.26), we have

$$d_{0,\lambda}(N + 1) = (2N + 1)d_{0,\lambda}(N), \tag{3.27}$$

$$d_{N+1,\lambda}(N + 1) = 2d_{N,\lambda}(N), \tag{3.28}$$

$$d_{k,\lambda}(N + 1) = (2N + 2k\lambda + 1)d_{k,\lambda}(N) + 2d_{k-1,\lambda}(N). \tag{3.29}$$

From (3.20) and (3.23), we get

$$\begin{aligned} F^2 &= \sum_{k=0}^1 d_{k,\lambda}(1)(1+\lambda t)^{\frac{1}{2\lambda}+k} F^{(k)} \\ &= d_{0,\lambda}(1)(1+\lambda t)^{\frac{1}{2\lambda}} F + d_{1,\lambda}(1)(1+\lambda t)^{\frac{1}{2\lambda}+1} F^{(1)} \\ &= (1+\lambda t)^{\frac{1}{2\lambda}} F + 2(1+\lambda t)^{\frac{1}{2\lambda}+1} F^{(1)}. \end{aligned} \quad (3.30)$$

Thus we have

$$d_{0,\lambda}(1) = 1, \quad d_{1,\lambda}(1) = 2. \quad (3.31)$$

Form (3.27) and (3.28), we get

$$\begin{aligned} d_{0,\lambda}(N+1) &= 2\left(N + \frac{1}{2}\right) d_{0,\lambda}(N) = 2^2\left(N + \frac{1}{2}\right)_2 d_{0,\lambda}(N-1) \\ &= \dots = 2^N\left(N + \frac{1}{2}\right)_N d_{0,\lambda}(1) = 2^{N+1}\left(N + \frac{1}{2}\right)_{N+1}, \end{aligned} \quad (3.32)$$

and

$$\begin{aligned} d_{N+1,\lambda}(N+1) &= 2d_{N,\lambda}(N) = 2^2d_{N-1,\lambda}(N-1) = \dots = 2^N d_{1,\lambda}(1) \\ &= 2^{N+1}. \end{aligned} \quad (3.33)$$

Thus we get the following theorem.

**Theorem 3.3.** *The following family of differential equations*

$$N!F^{N+1} = \sum_{k=0}^N d_{k,\lambda}(N)(1+\lambda t)^{\frac{N}{2\lambda}+k} F^{(k)}, \quad (N = 1, 2, 3, \dots)$$

have a solution  $F = F(t; \lambda) = \frac{2}{(1+\lambda t)^{\frac{1}{2\lambda}} + (1+\lambda t)^{-\frac{1}{2\lambda}}}$ ,

where

$$\begin{aligned} d_{0,\lambda}(N) &= 2^N\left(N - \frac{1}{2}\right)_N, \quad d_{N,\lambda}(N) = 2^N, \\ d_{k,\lambda}(N) &= (2(N-1) + 2k\lambda + 1)d_{k,\lambda}(N-1) + 2d_{k-1,\lambda}(N-1), \\ &(1 \leq k \leq N-1). \end{aligned}$$

**Remark 4.** From (3.29), we obtain the following expression.

$$\begin{aligned} d_{k,\lambda}(N) &= \sum_{j_1=0}^{N-k} \sum_{j_2=0}^{j_1} \dots \sum_{j_k=0}^{j_{k-1}} 2^N \left(N - 1 + k\lambda + \frac{1}{2}\right)_{N-k-j_1} \\ &\times \left((k-2+j_1) + (k-1)\lambda + \frac{1}{2}\right)_{j_1-j_2} \times \dots \times \left(j_{k-1} + \lambda + \frac{1}{2}\right)_{j_{k-1}-j_k} \\ &\times \left(-1 + j_k + \frac{1}{2}\right)_{j_k}, \quad (1 \leq k \leq N-1). \end{aligned}$$

From the right hand side of **Theorem 3.3**, we get

$$\begin{aligned}
 & \sum_{k=0}^N d_{k,\lambda}(N)(1 + \lambda t)^{\frac{N}{2\lambda} + k} F^{(k)} \\
 &= \sum_{k=0}^N d_{k,\lambda}(N) \left( \sum_{l=0}^{\infty} \left( \frac{N}{2\lambda} + k \right)_{l,\lambda} \lambda^l \frac{t^l}{l!} \right) \left( \sum_{m=0}^{\infty} e_{m+k,\lambda} \frac{t^m}{m!} \right) \\
 &= \sum_{k=0}^N d_{k,\lambda}(N) \left( \sum_{l=0}^{\infty} \left( \frac{N}{2} + k\lambda \right)_{l,\lambda} \frac{t^l}{l!} \right) \left( \sum_{m=0}^{\infty} e_{m+k,\lambda} \frac{t^m}{m!} \right) \\
 &= \sum_{n=0}^{\infty} \left( \sum_{m=0}^n \sum_{k=0}^N d_{k,\lambda}(N) \binom{n}{m} \left( \frac{N}{2} + k\lambda \right)_{n-m,\lambda} e_{m+k,\lambda} \right) \frac{t^n}{n!}.
 \end{aligned} \tag{3.34}$$

From (3.34), we get the following theorem

**Theorem 3.4.** *Let  $N \in \mathbb{N}$  and  $n \in \mathbb{N} \cup \{0\}$ , we have*

$$e_{n,\lambda}^{(N+1)} = \frac{1}{N!} \sum_{m=0}^n \sum_{k=0}^N d_{k,\lambda}(N) \binom{n}{m} \left( \frac{N}{2} + k\lambda \right)_{n-m,\lambda} e_{m+k,\lambda},$$

where  $d_{k,\lambda}(N)$ ,  $(0 \leq k \leq N)$ , are as in Theorem 3.3.

### References

1. P. L. Butzer, M. Schmidt, E. L. Stark, L. Vogt, *Central factorial numbers; their main properties and some applications*, Numer. Funct. Anal. Optim. 10 (1989), no. 5-6, 419–488.
2. L. Carlitz, *Degenerate Stirling, Bernoulli and Eulerian numbers*, Utilitas Math. 15 (1979), 51–88.
3. L. Comtet, *Advanced combinatorics. The art of finite and infinite expansions*, Revised and enlarged edition. D. Reidel Publishing Co., Dordrecht, 1974.
4. D. V. Dolgy, G.-W. Jang, D. S. Kim, T. Kim, *Explicit expressions for Catalan-Daehee numbers*, Proc. Jangjeon Math. Soc. 20 (2017), no. 1, 1–9.
5. G.-W. Jang, T. Kim, *A note on type 2 degenerate Euler and Bernoulli polynomials*, Adv. Stud. Contemp. Math. 29 (2019), no. 1, 147–159.
6. G.-W. Jang, D. S. Kim, T. Kim, *Degenerate Changhee numbers and polynomials of the second kind*, Adv. Stud. Contemp. Math. 27(2017), no. 4, 609-624.
7. D. S. Kim, H. Y. Kim, D. J. Kim, T. Kim, *Identities of Symmetry for type 2 Bernoulli and Euler Polynomials*, Symmetry 11 (2019), no. 5, Art. 613.
8. T. Kim, D. S. Kim, *A note on type 2 Changhee and Daehee polynomials*, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 113 (2019), no. 3, 2763–2771.
9. D. S. Kim, T. Kim, *Some identities for Bernoulli numbers of the second kind arising from a non-linear differential equation*. Bull. Korean Math. Soc. 52 (2015), no. 6, 2001-2010.
10. T. Kim, D. S. Kim, *Differential equations associated with degenerate Changhee numbers of the second kind*, Rev. R. Acad. Cienc. Exactas Fís. Nat. Ser. A Mat. RACSAM 113 (2019), no. 3, 1785–1793.

11. T. Kim, D. S. Kim, G.-W. Jang, D.V. Dolgy, *Differential equations arising from the generating function of degenerate Bernoulli numbers of the second kind*, Proc. Jangjeon Math. Soc. 21 (2018), no. 3, 421–442.
12. T. Kim, D. S. Kim, H.-I. Kwon, J.-J. Seo, *Differential equations associated with modified degenerate Bernoulli and Euler numbers*, J. Comput. Anal. Appl. 23 (2017), no. 7, 1191–1202.
13. T. Kim, D. S. Kim, *Degenerate central factorial numbers of the second kind*, arXiv:1902.04360 [math.NT].
14. M. Merca, *Connections between central factorial numbers and Bernoulli polynomials*, Period. Math. Hungar. 73 (2016), no. 2, 259–264.
15. S.-S. Pyo, T. Kim, S.-H. Rim, *Degenerate Daehee numbers of the third kind*, Mathematics 6 (2018), no. 11, Art. 239.

<sup>1</sup> DEPARTMENT OF CONTROL AND INSTRUMENTATION ENGINEERING AND ERI, GYEONGSANG NATIONAL UNIVERSITY, JINJU, GYEONGSANGNAMDO, 52828, REPUBLIC OF KOREA  
*E-mail address:* [skchung@gnu.ac.kr](mailto:skchung@gnu.ac.kr)

<sup>2</sup> DEPARTMENT OF MATHEMATICS, KWANGWOON UNIVERSITY, SEOUL, 139-701, REPUBLIC OF KOREA  
*E-mail address:* [gwjang@kw.ac.kr](mailto:gwjang@kw.ac.kr)

<sup>3</sup> DEPARTMENT OF MATHEMATICS, SOGANG UNIVERSITY, SEOUL, 121-742, REPUBLIC OF KOREA  
*E-mail address:* [dskim@sogang.ac.kr](mailto:dskim@sogang.ac.kr)

<sup>4</sup> DEPARTMENT OF MATHEMATICS EDUCATION AND ERI, GYEONGSANG NATIONAL UNIVERSITY, JINJU, GYEONGSANGNAMDO, 52828, REPUBLIC OF KOREA  
*E-mail address:* [mathkjk26@gnu.ac.kr](mailto:mathkjk26@gnu.ac.kr)